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Question 1 (3 pts): Design an encoding structure in 16-bit instruction format for the following

ISA: - _ -
b xk plf T 3 5 -
. J_mstrucuons with two g_ddressgs and one register number.
e 16 instructions with on¢’address and one register r;'fm}b_cr.

e 10 instructions with no a/dgLess and one register nufiber.
Suppose that an address t@es up 5 bifs and a'regi_stgr number takes 3 bits:-
T e

Question 2 (3 pts): What assembly instructions could a compiler use to implement the
following code if only beq instruction is available for branching?

bne $s3, $s4, Else
add $s0, $s1, $s2
Jj Exit
Else: sub $s9, $s1, $s2
Exit:
Question 3 (2 pts): Complete the below table showing how an MIPS ALU performs the
division for two unsigned integer 10002/ 01002
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Question 4 (2 pts): What is the binary values of the signals Read register 1, Read register 2,
Write register, RegDst when the struction addi $22, $21, -10 is processed in the below

datapath? Explain your answers.
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